10" DALGIC MOTOR
10" SUBMERSIBLE MOTOR



" Rewindable Submersible Motors

Sarilabilir Dalgi¢c Motor 150 - 250HP Tmpo

Avantajlar

Advantages

m Suitable for wells with 298 mm and larger inner diameter

m Maintanance free water lubricated radial and axial
(kingsburry) bearings

m Pressure balancing between inner and outer side with a
rubber diaphragm and a pressure.

m Rewindable stator reduces repair and maintanance costs

Standards

» Powers from 150HP to 250HP

* Splined shaft end

+ 8 NEMA flange

» Water lubricated

» Operates in vertical position

* Voltage tolerance + %10

* Max. water temperature 30 °C

» Speed 2900 / 3600 rpm

* Starts per hour 5

* Min. cooling flow 1 m/s

* PVC Lead

» Carbon - Ceramic Mechanical Seal (IP68)

« S-D starting for all power rates

* Windings for 380 V - 400 V - 415 V in “50Hz” & 380 V
-460 V in “60HZz”

* Filled with mixture of water and glycol (FP below -15 °C)

* Variable speed operation by frequency convertor
(over 30Hz)

« Availability to be operated by Soft-Starter

* CW & CCW direction of rotation (Suitable for bidirectional

uses)

Options

o Cable length

o Key type shaft end

o 10” Nema flange

o PT 100 temperature sensor

a SiC Mechanical seal ( IP68)

a Windings for 220 V - 220/380 V - 500 V in 50 Hz &
220V -220/380 V in 60 Hz

o Starting DOL or dual voltage

a Drinking water applicable rubber lead

m i¢ capi 298 mm ve (izerindeki kuyular igin Gretilmigtir

m Su yaglamali radyal ve Kingsburry tipi eksenel yataklar
bakim gerektirmez.

m /¢ ve dis ortam basincinin kauguk membran ve basing
tapasi vasitasiyla dengelemesi

m Tekrar sarilabilme imkani ariza tamir maliyetini azaltir.

Standartlar

* 150 HP - 250 HP arasi motor gligleri

* Frezeli uygun mil ucu

* 8 NEMA normuna uygun flans

» Su sogutmali

» Diigey konumda ¢alisabilir

* Gerilim toleransi = % 10

* Maksimum su sicakligi 30 °C

» Motor dénme hizi 2900 / 3600 d/dk

* Yol verme sayisi saatte 5

* Min. sogutma suyu hizi 1 m/s

* PVC Cikis kablosu

» Karbon - Seramik mekanik kege (IP68)

» Tim gdgler igin standart Y-U yol verme

 Standart sargi 380 V - 400 V - 415 V “50Hz” ve 380V
- 460V “60Hz”

 Su ve glikol karisimiyla doldurulmusgtur. (D.N. -15 °C alt1)

* Frekans konvertérii ile 30 Hz'nin lizerinde degisken
hizlarda g¢alismaya uygun

« Soft starter ile galismaya uygun

 Saat y6niinde ve tersi yénde ( ¢ift yonlii ) ¢alisabilme

Opsiyonlar

o Kablo boyu

o Uygu kamaya uygun mil ucu

o 10” NEMA normuna uygun flans

o PT 100 1s1 sensérii

o SiC Mekanik kecge ( IP68 )

n Ozel sargi 220 V - 220/380V - 500V “50Hz” ve 220 V -
220/380 V “60Hz”

o Yol verme sekli direkt veya dual voltaj

o igme suyu onayli kauguk gikis kablosu



" Rewindable Submersible Motors

Sarilabilir Dalgi¢c Motor 150 - 250HP Tmpc

Performance Datas / Performans Degerleri

CURRENT

EFFICIENCY

POWER FACTOR

motor Type | POWER | FREQUENCY | VOLTAGE AKIV VERIM GUG FAKTORO ROTATION
MOTOR Tipl felilo] FREKANS VOLTAJ A) % ( Cos ®) DEVIR
HP) [ (kW) (Hz) ) 100% | 115% | 50% | 75% | 100% | 115% | 50% | 75% | 100% | 115% |  (rpm)
380 2300 - [81,3|843]832] - [o083|087] 088 - 2883
50 400 2230 - |[s824s48[835] - [o79]0s85] 087 - 2885
10" V 150 HP 150 | 110 415 2160| - [830(849]838] - [o075|082] 084 - 2895
6o 380 240,0 [ 283,0[ 78,3 81,1 79,4 | 784 [0,83] 0,84 0,86 | 0,87 3400
460 192,0 [ 218,0 (80,7 [ 82,4 | 834 | 81,4 [0,78]0,85] 0,87 | 0,88 3477
380 2780| - |[s26|846]838] - [o77]o0s84] 087 - 2900
50 400 2700 - |[s836(855[ 847 - [o71]os81] 085 - 2914
10" V 180 HP 180 | 132 415 2670 - |[831|856]846] - [o065|076] 082 - 2918
60 380 2740 - |[s815|838]826] - [o087|089] 089 - 3486
460 2350 - [s821]s44| 846 | - [o072[081| 085 - 3529
380 3050 - |[827]852] 86| - [o78]o0s85] 087 - 2904
50 400 2090 - [838(|855[842] - [o074]082] 086 - 2905
10" V 200 HP 200 | 147 415 2040 - [831]s854| 855 - |o68|078] 083 - 2907
60 380 3030 - [81,3]830]823] - [o8s|o90] 000 - 3489
460 2590 - [81,2]847]838] - [o74]082] 086 - 3540
380 3800 - |[823|853][849] - [o76|0s84] 087 - 2893
50 400 3740 - |[s29|851][ 846 - [o71|081] 085 - 2910
10" V 250 HP 250 | 185 415 3700 - [s839]s58| 849 - |o66|077| 082 - 2914
60 380 378,0[418,0[ 82,0 84,1] 832 | 823 [0,86 [ 0,89 0,89 | 0,89 3460
460 323,0[351,0 82,9 84,7( 850 | 837 [0,72] 0,81 0,85 | 0,86 3510




" Rewindable Submersible Motors

Sarilabilir Dalgi¢ Motor 150 - 250HP TMPO
Motor Leads / Motor Cikis Kablolari

LEAD KABLO (mm2)
380V 50Hz/400V 50Hz/415V 50 Hz CABLE LENGTH
MOTOR TYPE
L 380V 60 Hz/460V 60 Hz
MOTOR TiPi HP | kW KABLO BOYU
DOL STAR - DELTA (m)
DIREKT YILDIZ - UGGEN
10 V150 HP 150 | 110 3x35 2 x(3 x25) 5
10 V180 HP 180 | 132 50 +50 + 50 2 x(3 x25) 5
10V 200 HP 200 | 147 50 + 50 + 50 2 x(3x25) 5
10 V 250 HP 250 | 185 70+70+70 2 x(3x35) 5
Dimensions / Olgiiler
238
Vo] IR
i} 1
Son
[ﬁ Eﬂ S Motor Type Power AXIAL THRUST | Length | Weight
= Gii J Uzunluk | Agirlik
e | Motor Tipi [4 EKSENEL YUK zunlu girin
u HP | kw (N) mm kg
o 10 V150 HP 150 | 110 60000 1464 330
10V 180 HP 180 | 132 60000 1584 370
10 V 200 HP 200 | 147 60000 1674 400
10V 250 HP 250 | 185 60000 1874 464
Fill Valve (x2 pcs) M16 Pump Assembly Studs (x4 pcs)
Su tapasi (x2 adet) Pompa Baglanti Saplamasi (x4 pcs)
232 —
Sefohe M16x60
)(%8 é
92! . ")
v
§2




" Rewindable Submersible Motors

Sarilabilir Dalgi¢c Motor 150 - 250HP Tmpo

Exploded View / Patlatiimis Goriinim

10v28_R00————(&)
10V37_RO0— 10V27_ROO—— O ©———10V32_R00
10V36_R00 @ 10v26_ROO———# :]] 8&2?_288
10V35 R00—= 10v25_R00 = & 10V30_R00

- ‘ 10V24_R00——
B 10V29_R0OO

10V07_RO

10V06_RO0—o 3 10V39_R0O0O
- . 10V38_R00

A 10V05 KIT_R0O

—RO0O
1 0V02R00%

10V05 KIT_R0O0

10V05-1_R00
10vV08_RO00O
10V01_ROO —
10V05-2_R00 -
- R—
10V11 KIT_R0O A ’ 10V09_R00
10V02_R004@
= 10V10_R0O

10V05-2_R00| 10V04_ROO 10V03_R00

10V11 KIT_RO06 10V12 KIT_RO0O

10V04_R00

b v 5 _R0OO

®——10V16_R00
® —10V17_R00O

8 10v18_R0OO

® ——10V19_RO0O0

@71 0V11-2_R00

10V13_R0O0

10V04_R00

10V12 KIT_ROO 10V14_R00
10V05-1A_R00 [DOL
\/10V12'6—ROO 10V20 ROO @ 10v05-kiT_Roo |'°V2%1-R90 [16v05-18_R00 [STAR DELTA
10V125 ROO - 10V05-2_ROO 150-250 HP
- 10VA1-1_ROO
10V12-4 ROO 10V21—R004© 10V11-KIT_R0O [10V11-2_R00 150-250 HP
| 10V12-3_R00 0V05-2_ROO
- 10V22_R004© 10VA2-1 R0D
#Bs  10v12-2_R0O T0VAZZROD
10V12-3_ROO
) 10V12-1_R0O 10V12:KIT_R00 {22232 83 150-250 HP
10V12-5_RO0
10V12-6_RO0




" Rewindable Submersible Motors

Sarilabilir Dalgi¢ Motor 150 - 250HP TMPO
Part List / Parca Listesi

PART NAME MATERIAL PARCA ADI MALZEME
10V01_RO0O0 ([Stator Lam. Sheet |Stator Lam. Saci
10V02_RO0O0 |End Turn Protector - Internal AlSI 304+Rubber|ic Sargi Muhafaza AlSI 304+Kauguk
10V03_RO0O0 |Stud - Bottom AISI 420 Motor Alt Saplama AISI 420
10V04_R00 |Gasket Klingerite Conta Klingerit

o S 10V05 KIT_RO0|Top End BellKit [ —=——mmme- Motor L:Jst Govde Komple | —mememe-
g n:l 10V05-1A_ROO |Top End Bell DOL Cast. Iron Motor l}st Govde Direkt PIK Dokim
2 | 10V05-1B_R00 |Top End Bell SD Cast. Iron Motor Ust Gévde Yildiz liggen PIK Dokim
X 10V05-2_R00 |Radial Bearing 150-250 HP Carbon Karbon Burg 150-250 HP Karbon
10V06_R0O0 |Washer Copper Motor Govde Baglanti Rondelasi Bakir
10V07_RO0O0 |Top End Bell Bolt AISI 304 Motor Ust Gévde Baglanti Civatasi AISI 304
10V08_R00 |Rotor Lam. Sheet |Rotor Lam. Saci
10V09_RO0O0 |Key - Thrust Bearing Steel Trans Yatak Disk Kamasi Celik
10V10_R0O0 [Snap Ring - Thrust Bearing Steel Trans Yatak Disk Segmani Celik
o |[10V11 KIT_ROO [Bottom End Bell Kit | =—=—mememememm- Motor Alt Gévde Komple | —=mmmemmmmmeeee
E §I 10V11-1_RO0 |Bottom End Bell Cast. Iron IYIotor Alt Goévde PIK Dokim
© K| 10V11-2_R00 |Upthrust Washer Composite  |Ust Trans Plastik
x 10V05-2_R00 [Radial Bearing 150-250 HP Carbon Karbon Burg 150-250 HP Karbon
10V12 KIT_RO0O [ Thrust Bearing Kit 150-250 HP | -------------—--- Trans Yatak Komple 150-250 HP [ ——-——mmemememmm-
10V12-1_R00 |Thrust Bearing Ball AISI 304 Trans Yatak Denge Bilyasi AISI 304
N 8 10V12-2_R00 |Thrust Segment Holder Cast. Iron Trans Yatak Asinma Kutusu Doékme Demir
3 El 10V12-3_R00 |Thrust Segment Ball AISI 304 Trans Yatak Asinma Bilyasi AISI 304
T &| 10V12-4_R0O0 ([Thrust O'Ring NBR Trans Yatak Oringi NBR
10V12-5_R0O0 |Thrust Segment AISI420 Trans Yatak Asinma Pargasi AISI 420
10V12-6_R00 |Thrust Bearing Disc Carbon Trans Yatak Diski Karbon
10V13_R00 [Spacer Ring AIS1 316 Motor Alt Taslyici Etek AIS| 316
10V14_RO00 [Diaphragm Cover Cast. Iron Motor Alt Taslyici PIK D6kim
10V15_R00 ([Washer Copper Rondela Bakir
10V16_R00 |Washer AISI 304 Rondela AISI 304
10V17_R0O0  |Nut AIS| 304 Somun AISI 304
10V18_R00 ([Screw - Shaft Adjusting AIS| 304 Motor Ayar Civatasi AIS1 304
10V19_RO0O0 [Nut - Shaft Adjusting Steel Motor Ayar Somunu Celik
10V20_R00 |Diaphragm NBR Membran NBR
10V21_RO00O |Diaphragm Lid AIS1430 Membran Kapagi AIS1430
10V22_R00 ([Diaphragm Lid Snap Ring Steel Membran Kapak Segmani Celik
10V23_R00 ([Shaft Seal Carbon-Ceramic [Mekanik Kece Karbon-Seramik
10V24_R0O0 |Shaft Seal Washer Fibre Mekanik Kege Kapak Contasi Elyaf
10V25_R0O0 |Seal Cover AIS| 420 Mekanik Kece Kapagdi AIS| 420
10V26_R0OO |Seal Cover Screw AIS| 304 Mekanik Kece Kapagi Civatasi AIS| 304
10V27_R00 |Sand Slinger Washer AISI 304 Motor Kum Tutucu Rondelasi AISI 304
10V28_R00 |[Sand Slinger NBR Motor Kum Tutucu NBR
10vV29 ROO |Lead Cable Cikis Kablosu Kablo
10V30_RO0OO |Lead Spacer POM Kablo Cikis Rondelasi POM
10V31_R00 |Lead Seal NBR Kablo Cikis Lastigi NBR
10V32_R00 |Lead Seal Pressure Ring Bronze Kablo Cikis Rekoru Bronz
10V33_R00 [Fill Valve O'Ring NBR Su Tapasi Oringi NBR
10V34_RO00 |Fill Valve AISI 304 Su Tapasi AISI 304
10V35-A_R00 |Pump Assembly Stud - M16 AISI 304 Pompa Baglanti Saplamasi - M16 AISI 304
10V35-B_R00 |Pump Assembly Stud - M20 AISI 304 Pompa Baglanti Saplamasi - M20 AISI 304
10V36-A_R0O0 ([Lock Washer - M16 AIS| 304 Pompa Baglanti Yayl Rondelasi - M16 AIS| 304
10V36-B_R00 [Lock Washer - M20 AIS| 304 Pompa Baglanti Yayl Rondelasi - M20 AIS1304
10V37-A_R00 |Pump Assembly Nut - M16 AISI 304 Pompa Baglanti Somunu - M16 AISI 304
10V37-B_R00 |Pump Assembly Nut - M20 AISI 304 Pompa Baglanti Somunu - M20 AISI 304
10V38_R00 ([Lock Washer for Grounding AIS| 304 Topraklama Rondelasi AIS| 304
10V39 R0O0O |Ground Screw AISI 304 Topraklama Civatasi AISI| 304

Please specify the horse power (HP) and start-up type while ordering a spare part,
Yedek parca siparisi acarken beygir giictinii (HP)ve kalkis tipini belirtiniz.





